AT
i HE

SPPBx7i

applicable

FE ) AE, wEN TR .

B &
0.35NUA FiEsifeds,

24 Il Rk 8% (SPPBS3, SPPB63, SPPB64),
[ R TR0t ] T 4G AL 2

¥ o REFY:, BEHBEEMREE.
- [ ]
- [ ]
e 'a -

P T B sz
. © DVD#i#/ ZIHL, CD—ROM%: & P oA i A 8
- o RIRUAA M, CDRRIES, REEM, BOCHT ENHLE LR H
gzt o BHLIh, B LT HL 2 R A MR S
ZjkE
BiERE
TacTswiteh™ [l EEMIE
$5 51 7 i mHe g
RXEFE/=/MNEiE (BEPE s 0.1A 30V DC/50x A 3V DC
BERUEPE (A / HHE) 1Q max./2Q max.
NED 0.35N max.
Ftas 50,000cycles
R1ESESG
fagk 50,000cycles(0.1A 30V DC)
MR-
G &% ERH H{EFPSE HEF [E ¥ AR 2E FRES BES
SPPB110300 1
SPPB120200 2
Push
SPPB310400 7
/\ Horizontal Lead SPPB320100 8
Actuator A SPPB1A0100 3
0000000 \ SPPB1A0101 4
\’\ctuator C Bulk ALY 5
\ SPPB2A0101 6
g Vertical SPPB512300 9
LOOS . 031 1 [ ) Push _ SPPB610400 13
Horizontal
7 For PC board SPPB620300 14
Vertical (Dip) SPPB5A0100 10
- 3728856151':' |:| |:| ActuatorA SPPB6A0100 15
/ Horizontal SPPB6A0400 16
\ SPPB530701 11
Push Vertical For PC board Tapin SPPB530601 12
. (Reflow) ping SPPB630101 17
Horizontal
SPPB640201 18

12

F=mIAE » P67
HEME PP

ALPS


Administrator
日期图章 (红)


W SMEE

ERIEAE S

BEFHE | sPPB=z7I

Unit:mm

ENRIEREEHR 223 FL R~TE

ALPS

No. A
T R (BABZEE)
Push
L2
ON#AGLE
6.15 1.5 0
SfTREE ﬁﬁﬁmg 5|
@2 hole 35 / 6.15 ‘
77 45 CD © L)
/ K
= )
~
1 . A= 2 § @ o @ | ik 23
o ¥ ﬁig o o
. i 8
R === o—1 | wms
e 0.1 M2X0.4
] DT@‘ @ Dm hole 1.65 1.3 hol
e Terminal No.( LA S R
{ 2008.08.17 \ -
Push | Sk
ON AL RIERE
137288561511 0 [J 615 1.5 LTRIE TACT Switch™
RIS
35 / e
22 hole ] ﬁ%“ﬁﬁq
m o M2X0.4 F:DDD
3 ¥ = "’i » ’
2 [t) e 2 ’; o ®A
_ +
= O 3 : ] S
2= iy
o pmne: %k o —r 6.15
ﬂé]ﬁ N 7.65
16 @ 0.1 -
oshs \ ©'1 hole 1,65 1.3 hole
Terminal No.D|/ .
765 Terminal No.2)
Actuator A
ON#ISEHLE
2ITRUE RIERBALE
s 8.05 3.75 45 455
45 | 455 —~ Vo
ANy
3 @2 hole — ﬁ,(r : :,:_
N | =
. i gt gl
a I = i/
©
ﬁ/jﬁ 21 M2X0.4 \;
i 51 hole @1.3 hole
Terminal No.@» \Terminal No.2)
Actuator A
ON#IS&HLE
EITEME
9.15 RIERBALE
7.65
1.4 7.65
4 02 hole
Le NOIE - A
0]
- 2 2
~1 — T ]
Df T D
225015\ \21 hole .01 M M2X0.4 /
Terminal No.(D Terminal No.(2)
13


Administrator
日期图章 (红)


B %
BHAE | sPPBZ3I

W SMEE Unit:mm
ENRIEB BRI R ~TE
No. 2
MR AR (BABEE)
Actuator C
i ON#ItafrE
E‘;Ej] EITRMAE BRIEAMIE
45 5.8
/R N
5 22 holes
iews — 5 &
( M2X0.4 13 hol
%;E o21. ole
Terminal No.()  \Terminal No.
- 0000000
ZIEE Actuatof C
_BMERE 2008.08.17
TACT Switch™ TR
Wit 2ITEMAE RAERBALE
$5 51 T 137288561511 [0 O 915 265 765
5 N
S ~
6
° 2
) T
N
/1.3 hole \ M2X0.4
Push
SITIREE
165, . 15
ONHIEAHLE BRAEME
85 165 ;
i ©
g Fanie= i / i
7 - Ho(d 4 ) A J/,& 3 ~
8 O~ Y 8° s EE g
o e ) S &
/h}e\ 7:‘ 0 ° 21.3 hole 8
Terminal No.(D 225115 ° 21 hole . 01
—_— f ! Terminal No.(2) 165
05 8 05 "
Push
2ITEEMAE
e - ONFIEILE B
35
/ 1,65
8 § = / ~ 13
=~ A= 0|8 @ ~
1wz ! ) o Ik 5
o F;EH I : 90 g2
® oIl ‘;i -
ﬁr}% o o 21.3 hole 8
Terminal No.(1D) °
22515 Terminal No. @
oihde 45 8 05
14 ALPS



Administrator
日期图章 (红)


ERIEAE S

BEFHE | sPPB=z7I

W SMEE Unit:mm
ENRIEE BB IR L LA R 18
No. BEH- etk R E
(BAFEE)
Push
A &
L 2ITIRUE
2.45 &3
0.8 T 3 ON#AfLE 21.25 hole
4-61.1 hol
' I B A B
9 gﬂ_,/; T / Pl I
IniIEE o3 o1 et
<
PC board ﬁ
= ¢ \ 0.95 23
) % ; g X mounting face ‘ ‘ | 245 ﬁﬁE%&
Terminal No.(»D -] ﬂl" 01.2
0.95/| [2.3 Terminal No.@ |10 i
‘ 3.3 3
. |33 / gooooon BiE
6.3
[12008.03.17 | ™=
Actuator A \ 1%225%
£ 3
ON#BAL & \ -
STREE 137288561510 [0 [J TACT Switch™
3.75, -
1 2 i 4-01.1 $5 5T
b
1.25 hole —_—
10 I ©
o
&—O
‘ 0.95
01.2
Push
2.45
T 1.6.1.5
15 1.65 pu—
po . 2TIEME BRAERRALE
N ON#IFAHIE 1.65 1.5
] =
OJ: N L 7 o
| 5 )
ﬂ—'&ﬁ“ B - @ A J
11 1 3 © 2-91.1 holes | <
| | ‘
\ N
: jﬁL‘f, = Aﬁ 2-pattern m PV
Terminal No.(D_ N 01| section
08 | N 1.2 14
0 )5“‘ 3 mounting face 0.1
20| | 3.3
‘ 5.1 Terminal No.2
. 65
Push
A
2 2
165 3
S13I2E 17515
[ ON#SALL B 1.4
m ﬂw\ IE
] = g 2-91.3 holes []
12 o N
15 <
.
— o
Terminal No.(1D [T PC board
mounting face a)
Terminal No. Detail of@g g
i sl g
15

ALPS


Administrator
日期图章 (红)


B %
BHAE | sPPBZ3I

B 5MEE Unit:mm

EN R BB RS 3L LA R 1R
No. T AR BARTE
(BAFHEE)
Push
F .
4
%5 6.3 5.36
5.6 1.75 15
- b 27"——1‘ 1.65
&)
IR ~ ! HE%
13 — IINE o } _2-21.1 holes
T 19| enrun . ‘
e ) ‘m 2-91.2 holes
{manse Terminal No.D,~1.75]| s miaE 32 PO board X
Y . R \3 = o) mounting face N IR E
65 Terminal No.(2 5 A —=
iE - 2 35\ 2-0.8X1.4) B 7L 1.65
T - -
ogoooao
iz
y A A |
i et | 2008.03,17
BieEE Vo, )
TACT Switch™ :3
— 1372885615101 5.6 o 85 1 5.36
ﬁguﬁﬁl ’ 1.65 2 s ‘ 5.1 0.2 15 1.75
= RN o
14 of mL 1 2fTRME | #i@ - W o
6| 6| < 1
2-01.2 holes g
B ] \‘ ON#IsAHLE 1 PC board o /E
[ 15 75 \ 3.2 mounting face RIEEMLE
Y ! @ 536 — . 165
Terminal No.(» 65 554 A;g 2-(0.8X1.4)H 7l
Terminal No. (2
Actuator A
ONANAMLE
2.75,_ 525 STIRNE
315
2
PC board 5.86 2912 holes
15 - -n o 1
RN
‘ I
o - - \.2-¢1.1 holes
2.55|
Terminal No.2)
Actuator A
EXigEqos 525 275
08 ONWIE & 315
6.3 2
PC board
.y mounting 8.86
2 face 325 2-01.2 holes
16 o & A=
¢] 3 o O—
N o e N N 7
a E;qf’fr 4“'4 \.2-21.1 holes
2.55
Terminal No.2), \Terminal No.(D

16 ALPS



Administrator
日期图章 (红)


A FF R

BEFHE | sPPB=z7I

W SMEE Unit:mm
ENRIEE BB IR L LA R 18
LGS BH etk BARTE
(BAFEE)
Push
¥ 44
7.6 4 =
63 285 1.6 5 16 )
56 17515
165][ T ‘ ‘1.‘4‘ Bah
%Ii‘ — tal z
W% & g j*‘h T Iy -~
17 S HE ;i g d*{ — 3 J | [0 | fjf, et
ELJ: N L l:l ; J—
Terminal No.(D \ PC bo_ardf g ! / T_Oi ‘1 S 1) & Y
021 12 mounting face 7l ‘ 2-00.7 holes/ | 5.36 \ :1 YmiD2E
1.75 5.;: Terminal No.(2 202, 7%*\4.6 4-pattern section 7
onimti® /| 57 N appps iR
6.7 —
ooooQoo PR
ZI5E
BRERE
A 0.7 5.4 —_—
7‘6 4 TACT Switch™
B 4
6.3 285 1.6, 5 1.6, —
Alw 5-‘6 - A_~‘ 15 1.75 $5 5T
/ i) — Lo « il
5 8. £%ﬂ 2} o Lt ]! -
18 i % Sl ] S 1 HRET
Jerminal Ro > \ 0 JLA gl ® [ D#:@
L2 PC board °© ! 0 O o\
i mounting face - : 2-0.7 holes/ | _ 5.36 \ 31
5.36 Terminal No.(2) 2.00.2 3‘7' | 4-pattern section
ONptatEE T 41| 4s SiriE
57
6.7
B E3RE (BEAFEE)
& FFSPPB5E! &R FspPBsEI ISP
L @
o
@
17

ALPS


Administrator
日期图章 (红)


EF X

IF.:‘.".':%'J".’I‘&

EX ]
SPPB SPVE | SPPW8 | SPVM | SPVR SPVF | SSCU | SSCT | SSCF | SSCM
TiE
q e -40'1 to . . . . -10't to . . -10t to
N=0:-31c _ - -
EHREETGE g 10°'Cto +60C 40'C to +85'C 180°C 40'C to +85'C 160°C -
= XEE (AR 0.1A 30V DC 1mA 5V DC 0.1A 12V DC 51\/mI3AC
%3
1Q 500mQ 1Q 2Q 3Q 500mQ | 70mQ 20mQ 100mQ 2Q
HIRALERG PR max. max. max. max. max. max. max. max. max. max. 250
1
. 100MQ min. 100MQ min.
B gE ¢ B P 100MQ min.100V DC 250V DC 100V DC Hewt
. 250V AC 100V AC b
if £ FE 100V AC for Tminute for Tminute for Tminute i
3N 0.5N 3N 1N 0.5N 3N 5N 0.5N BHiE
iR E for for for for for for 3N for Tminute for for
Tminute | Tminute | Tminute | Tminute | Tminute 30s 1minute | Tminute
Pz
IR {EERRE 10N 5N 10N 5N 2N 1N 5N 10N 0.5N S
e
iR EE 10 to 55 to 10Hz/4Y, &#R18 1.5mm. X, Y, Z 377 @ &2/\ft TACT Switeh™
551 3E
HLTERE 21| 20055C, 3505, 300107, 350+5C, 360+10C, | 35045, [ o
5s max. 3s max. 3+1/0s 3s max. 3+(1JS 3s max.
B2 | e 260%5C, 25515C, 245157, 26015C,
it | = 5Xt1s 5XE1s 511s 51+1s
N BES R
Bl ES|®P.70 'El’: 21
50,000 50,000 100,000 50,000cycles 100,000 10,000 10,000 50,000 50,000
TREES cycles cycles cycles 59 mzx cycles cycles cycles cycles cycles
2Q max. | 1Q max. | 2Q max. : 1Q max. |100mQ max.| 40mQ max. | 200Q max. | 5Q max.
it X A e (01A30VDC) | (01A30VDC) | (07A30VDC) | (TmA BV DC) | (TmASVDC) |(0.1A 12V 0C) | (0.1A 12V DC) | (0.1A 129 DC) | (1mABV DC)
kS E T 50,000cycles | 50,000cycles | 100,000cycles 50,000cycles 100,000cycles | 10,000cycles | 10,000cycles | 50,000cycles | 50,000cycles
2Q max. | 1Q max. | 2Q max. 5Q max. 1Q max. | 150mQ max. | 60mQ max. | 300mQ max. | 5Q max.
. — 40221 o
e —20%2°C for 96h fgr:%zhc —20%2°C for 96h
TERLE fe e T3 e 85+2°C for 96h
TR RE 40712°C, 90 to 95%RH for 96h
goooodo
137288561510 [ [J
ALPS 67


Administrator
日期图章 (红)


EF X

I IRiERMG

ALPS

BB XEISE 6]
Lo BEA 2 ) 1A Ol ol N 1 o
2RBEWMEGRA 60.1~¢0. 2 CAK)SRCC(T)HATIM R, FEAE BB (A )M &, B 77 20 AR
3RS
oAl
%3
iBah — 300 ¢ A max.
e N B
k3 o \
2 200+ D
e 5 \
Q E
) £ .
e F 100 |
47 \‘
J]?&it Room - Tlme (S)
2k temperature
BIERE bk
C
TACT Switch™ F max.
ﬁ:‘ﬂliﬁi
Seri A(C) . o .
eries [Reflow type) 3s max. B({C} Cis) D(C}) E (C) F (s}
SPPB 230 40
250
SPPWS8 200 20
gogoooo
SPVE
( 2008.03.17
SPVM 180 150 120
SPVN 260 40
230
SPVP
SPVR
SPVS
SSCM
SPPY5 240 20 150 =ig 180
1. ERFMHERIBBERNEDEWEREE LARE, REBEENBEROME. X0 EES, OBREEMFXRMEESBRAMN
AE, XFHARREAE, HIFELREENER,
2. RBEEIRERNHE. SHHAARR, BEXRSHITRIAZEEA.
70



Administrator
日期图章 (红)


EF X

I Ha g

Tieks

mEDES

BHiR

PR

Z e

TACT Switch™

ﬁ:ﬂliﬁi

W BRER
HBHRRT Unit:mm
213 hole DDDDDDD
SN ( 2008.03.17 )
1= 1372885615100 OO O
w
IR (pes.) ERTE NEREE RS
EX]| i (mm) (mm)
1% 1%/ EM 1E/HOas%
53 (Horizontal ) 1,500 3,000 6,000
SPPB 53 (Vertical) 600 1,200 2,400
63, 64 1,300 2,600 5,200
24.4
h = 6.1 (Reflow }
1,000 2,000 4,000
SPPW81 | h = 6.55 (Reflow}
h = 7.6 [Reflow} 850 1,700 3,400
h=3.8
2,800 5,600 22,400
h=4.1
Standard | h=4.8 2,200 4,400 17,600
SPVE 12.4 12
h=5.2
2,000 4,000 16,000
h=5.5
LOV\_I- h=3.3 2,800 5,600 22,400
profile
SPVG 2,500 5,000 10,000
SPVL 5,000 10,000 20,000
SPVM 3,000 6,000 12,000
SPVN 5,000 10,000 20,000
16.4 16
SPVP 4,500 9,000 18,000
SPVR 2,500 5,000 10,000
SPVS 5,000 10,000 20,000
SSCM 3,000 6,000 12,000
SPPY5 550 1,650 3,300 44.4 44

TdRaR, ER/ANEIRENA (15,178) BINY

Sz 4l
HAETI,

ALPS

71


Administrator
日期图章 (红)


	产品概要
	外形图1
	外形图2
	外形图3
	外形图4
	外形图5
	产品规格
	焊接条件
	捆包规格



